DIvISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH A REMAINDER f;e Seorer |
1) 92159 = 1 = 256) 33550 = 6 =
22) 43948 =+ 10 = 27 87153 +9 =
213) 50082 = 6 = 28) 29779 + 3 =
211) Q0877 =3 = 29 29900 -4 =
215 18232 = 2 = 2600 43550 = 10 =
26) 3321 = 1 = 261) 3377 =5 =
27 69848 + 7 = 262) 5085 + 2 =
218) 52388 = 6 = 263 61344 =9 =
219) 36164 =— 6 = 264) 10768 =5 =
250) 38035 =5 = 265) 2044 + 6 =
51 64209 = 7 = 2600 11127 =2 =
252) 5] = 5§ = 267) 12481 =6 =
253) 5966 + 3 = 265) 19044 =4 =
51 4941 = 3 = 269 20311 =6 =
255 6764 =— 4 = 270) 18239 =2 =
Mathematics: Division - Level § - Horizontal - Set 5 10 culu
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